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1
Overview of the GRE


CHAPTER GOALS

[image: Image] Learn how the GRE is structured.

[image: Image] Find out what kinds of questions are on the test.

[image: Image] Study examples of each question type.

[image: Image] Learn about the computer adaptive test format.



The Graduate Record Examination (GRE) General Test is required by most institutions and programs granting Master or Doctorate degrees, although it is not required by all programs. Not surprisingly, the most competitive programs generally have higher score requirements. Some programs also require Subject Tests, which are beyond the scope of this volume. You should speak to the admissions department at the school to which you are applying to confirm whether you will need to take one or more of the subject tests. For more information on the GRE Subject Tests, visit www.gre.org/gre.

The GRE does not measure your knowledge of business procedures or law, or any specific content area. In addition, it does not measure your value as a person, nor does it predict your success in life. However, the GRE does a fairly good job of predicting how hard you will have to work to understand the material in your chosen program. If you prepare for this test seriously now, you’ll sharpen your comprehension, math, and reasoning skills, and be able to focus on the relevant information in your course work much more easily once you start graduate school.





GRE Format

The GRE General Test is a computer-based (or, in some locations, paper-based) test that includes five scored sections: one Analytical Writing section (with two scored writing tasks), two Quantitative sections, and two Verbal sections. Your test will also include an experimental section, called the “pretest” section, which is mixed in with the other sections of the test and appears as either a Verbal or a Quantitative section. There might also be a “research” section, which will always be the final section presented if you have one included in your test. The answers on the pretest and research sections will not count toward your GRE score. The questions are meant to help the test writers at Educational Testing Service (ETS) refine their methods and try out new material that may be included in future GRE tests. The pretest is not identified and will seem like just another test section as you work through it. The research section, if you have one on your test, will be identified as such.


GRE Tip

The GRE is offered as a paper-based test in certain areas of the world where computer testing is not available. International test-takers can find more information in the Welcome section at the start of this book.



The GRE always begins with the two Analytical Writing tasks: the Issue Task and the Argument Task. For both tasks, if you are taking the computer-based GRE, you will write your response using the word processor that is built into the GRE software. The Verbal and Quantitative Sections may appear in any order on your test. When working on these sections, you may skip around, first answering questions that you find less challenging, then coming back to the more difficult questions. Once you have completed a section, you may not go back to it. You are allowed a total of 3 hours and 45 minutes for the computer-based GRE, including the unscored section, and a total of 4 hours and 5 minutes for the paper-based GRE, including the unscored section. Chapter 6 of this book discusses Analytical Writing in detail, while Chapters 7 and 8 cover the Quantitative and Verbal sections, respectively.

The basic time breakdown is shown in the following chart. (Note that all sections after Analytical Writing can appear in any order on your actual test, except for the research section, which will come last.)

[image: Image]
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Your GRE may contain questions that are similar to released GRE questions that appear on the POWERPREP® software or in official GRE publications, such as The Official Guide to the GRE Revised General Test. Be very careful when responding to these questions because they might be slightly different from the questions that you remember. There might be different facts in the question stem and there might be different answer choices.



GRE Question Types

In order to simplify the sometimes complicated information on the GRE, you must first understand what you’re looking at. The following section provides a simple overview of the kinds of GRE questions that you will encounter.



Analytical Writing

The Analytical Writing section consists of an Issue Task and an Argument Task. You are expected to write essays that address each task. Here are typical examples of what you might see:

Issue Task

You will have 30 minutes to organize your thoughts and compose a response that represents your point of view on the issue. Do not respond to any issue other than the one presented; a response to any other issue will receive a score of 0.

Issue Topic


“Leaders should focus more on the needs of the majority than on the needs of the minority.”

Discuss whether you agree or disagree with the statement. Use relevant reasons and examples to support your point of view. In developing and supporting your position, consider ways in which the statement might or might not hold true. Explain how those considerations affect your point of view.





Argument Task

You will have 30 minutes to organize your thoughts and compose a response that critiques the given argument. Do not respond to any argument other than the one given; a response to any other argument will receive a score of 0.

Argument Topic


The following appeared as part of an article in a health and fitness magazine:

“Several volunteers participated in a study of consumer responses to the new Exer-Core exercise machine. Every day for a month, they worked out on the machine for 30 minutes in addition to maintaining their normal fitness regimen. At the end of that month, most of the volunteers reported a significant improvement in both their stamina and muscle condition. Therefore, it appears that the Exer-Core exercise machine is truly effective in improving a person’s overall general health and fitness.”

Critique the reasoning used in the argument above. You are not being asked to discuss your point of view on the argument. You should identify and analyze the central elements of the argument, the underlying assumptions that are being made, and any supporting information that is given. Your critique can also discuss other information that would strengthen or weaken the argument or make it more logical.



Strategies to help you write high-scoring essays are included in Chapter 6, “GRE Analytical Writing.”



Verbal

The Verbal sections of the GRE General Test include Sentence Equivalence, Reading Comprehension, and Text Completion questions. The questions do not appear in any predetermined order, nor is there any set number of each question type on any given GRE General Test. You should take as many practice tests as you can in order to become familiar with the format of the GRE verbal section.

Strategies specific to each of the question types outlined below can be found in Chapter 8, “GRE Verbal.”

Sentence Equivalence

Select the words that, when inserted in the blank(s), best fit the context of the sentence and complete the sentence in the same manner.

Because of his __________, Brian’s guests felt very welcome and comfortable staying at his house for the weekend.

[image: Image] animosity

[image: Image] hospitality

[image: Image] determination

[image: Image] wittiness

[image: Image] severity

[image: Image] generosity

Reading Comprehension

The GRE has three types of Reading Comprehension questions: Multiple-choice, Select One Answer; Multiple-choice, Select One or More Answers; and In-passage. The reading passages are usually just one or two paragraphs in length, and the number of questions per passage varies from one to six. The different types of questions do not appear in any predetermined order, nor is there a set number of each question type on every GRE General Test. A sample of each of the three question types is shown below.


Questions 1 to 3 are based on the following passage.



Scientists know very little about the eating habits of our ancestors who lived over two and a half million years ago. To solve this problem, scientists have started examining chimpanzees’ hunting behavior and diet to find clues about our own prehistoric past. It is not difficult to determine why studying chimpanzees might be beneficial. Modern humans and chimpanzees are actually very closely related. Experts believe that chimpanzees share about 98.5 percent of our DNA sequence. If this is true, humans are more closely related to chimpanzees than they are to any other animal species.

1. The main purpose of the passage is to

[image: Image] explore biological and physiological similarities between humans and chimpanzees

[image: Image] examine the hunting behavior and diet of chimpanzees and compare it to human activity

[image: Image] discuss the health benefits of eating and hunting meat while simultaneously predicting the effect of this behavior on chimpanzee offspring

[image: Image] bring attention to the pioneering research of Dr. Jane Goodall in Tanzania

[image: Image] educate the public on the impact that tool use had on early human societies

Consider each of the three choices separately and select all that apply.

2. With which of the following statements is the author most likely to agree?

[image: Image] Organisms that share a large percentage of DNA share similar characteristics.

[image: Image] It has been difficult to study the eating habits of ancient man.

[image: Image] Human behavior cannot be determined by comparing it to the behavior of animals.

3. Select the sentence that indicates a solution to the problem identified in the passage.

Text Completion

Choose one entry for each blank from the corresponding column of choices. Fill in the blanks in the way that best completes the text.

Experts believe that humans have 10 trillion cells in their bodies, which (i) __________ any number of essential genetic elements; scientists often marvel at what incredible (ii) __________ would ensue should the cells become jumbled or misunderstand their purpose.

[image: Image]



Quantitative

The Quantitative sections of the GRE General Test include the following question types.

• Quantitative Comparison

• Multiple-choice—Select One Answer

• Multiple-choice—Select One or More Answers

• Numeric Entry

In each Quantitative section, the Quantitative Comparison questions always come first. The other question types do not appear in any predetermined order, nor is there any set number of each question type on every GRE General Test. The Multiple-choice and Numeric Entry questions may appear as discrete (stand-alone) items, or they may be part of a set of questions based on the data in a table, chart, or other graphic. You should take as many practice tests as you can in order to become familiar with the format of the GRE Quantitative section.

Strategies specific to each of the question types outlined here can be found in Chapter 7, “GRE Quantitative.”

Quantitative Comparison

Compare Quantity A and Quantity B and select:

[image: Image] if Quantity A is greater

[image: Image] if Quantity B is greater

[image: Image] if the two quantities are equal

[image: Image] if the relationship cannot be determined from the information given

[image: Image]


NOTE

Some Quantitative Comparison questions provide additional information centered between two columns. This information will help you to compare the two quantities. Refer to Chapter 7, “GRE Quantitative,” for more details.



Multiple-choice—Select One Answer

For multiple-choice questions, unless you are directed otherwise, you should select a single answer choice.

1. When jogging, a runner takes 24 complete steps in 10 seconds. At this rate, approximately how many complete steps does the runner take in 144 seconds?

[image: Image] 34

[image: Image] 104

[image: Image] 154

[image: Image] 240

[image: Image] 346

Multiple-choice—Select One or More Answers

For this kind of multiple-choice question, the directions will tell you to choose all answers that apply. If the question specifies how many answer choices to select, select exactly that number of choices.

2. Which two of the following integers have a product less than −80?

[image: Image] −11

[image: Image] −10

[image: Image] −3

[image: Image] 8

Numeric Entry

For the following question, write your answer in the box.

Solve the equation for x: 2(x − 3) + 9 = 4x − 7

[image: Image]



More on the Computer-based Test

The computer-based GRE is partially computer-adaptive, which means that when you complete the first Verbal or first Quantitative section, the computer may give you a more difficult second Verbal or Quantitative section, depending on how well you performed on the first section. This process allows for a more accurate assessment of your individual ability level in a given subject area.

Within each section, you do not have to answer the questions in the order in which they are presented, and you do not have to confirm an answer in order to move to the next question. You are free to skip questions, and you do not have to answer every question in the section. If you have time, you can return to questions you skipped or weren’t sure about, and you can change an answer you decide is incorrect. However, once time runs out for a section, you cannot return to that section later.

Only minimal computer skills are required to take the GRE. We suggest that you familiarize yourself with the computer adaptive system by downloading the free POWERPREP® software available at www.gre.org. Review the tutorials and testing tools prior to test day so that you know how the process works.



What’s Next?

Chapter 2, “Taking the GRE,” includes information on how to register for the GRE, what to expect at the testing center, and how the GRE is scored. We also provide a review of the policies governing test-takers with disabilities.






2
Taking the GRE


CHAPTER GOALS

[image: Image] Get information about registering for the GRE.

[image: Image] Find out what rules you must follow at the testing center.

[image: Image] Learn how each part of the test is scored.



As mentioned in Chapter 1, the GRE General Test is designed to help graduate school admissions departments assess applicants. GRE scores are used to augment undergraduate records and transcripts and to provide a standard of measure for comparing all applicants.

The first step in taking the GRE is to register for an appropriate test date and location. If you are an international student, please also read the Welcome Section at the start of this book.



Registering for the GRE General Test

You can register for the GRE on the Internet, by telephone, or by U.S. mail. You will schedule your GRE test on a first-come, first-served basis at a testing location near you. The test is offered throughout the year at many locations around the United States. The GRE is also given in many countries worldwide. The full list of locations, and other registration details, can be found online at www.ets.org.

You can register via telephone by calling 1-800-GRE-CALL (1-800-473-2255). Registrations sent by mail can take up to four weeks to process. You must send the appropriate forms, either those printed directly from the GRE website or those found in the GRE Bulletin. The latter is available at many college counseling offices, as well as online. After you register, you will receive both detailed information about your testing center and free test prep materials, including the POWERPREP® software mentioned previously.

As of the printing of this book, you can take one GRE per calendar month. In addition, you can take a maximum of five GRE tests within any 12-month period. When you send your GRE scores to graduate schools, they see all scores from all GRE tests that you have taken within the past five years. You cannot choose to reveal scores only from a certain test date. How schools treat multiple-test scores varies. Some use only your most recent score, while others average the scores of each of your tests. Contact the admissions department of the programs to which you are applying for more information.



Taking the GRE General Test

One of the reasons the GRE is a useful tool for admissions departments is that it is a standardized test administered in the same way to all test-takers. In order to maintain this level of standardization, administration of the GRE is governed by some very specific rules, including, but not limited to, the following:

• You must have acceptable and valid ID; if you do not, you will not be admitted into the test center.

• You must use exactly the name that appears on your primary ID to register for the GRE and gain admittance to the test center.

• You must adhere to test center personnel requirements; failure to do so could result in expulsion from the test center.

• You cannot bring personal items such as cell phones, pagers, cameras, calculators, and the like.

• You must sign the confidentiality statement at the test center.


NOTE

The rules governing the computer-based GRE are different from those governing the paper-based test. Visit www.ets.org for more information on the test administration process.







Scoring the GRE General Test

On the GRE General Test, you will receive separate scores for Analytical Writing, Verbal Reasoning, and Quantitative Reasoning. The scores are calculated as follows.



Scoring the General Test Analytical Writing Section

Each essay receives a score from two highly trained readers using a 6-point holistic scale. This means that the readers are trained to assign a score based on the overall quality of an essay in response to a specific task. If the two scores differ by more than one point on the scale, a third reader steps in to resolve the discrepancy. In this case, the first two scores are dropped and the score given by the third reader is used. Otherwise, the scores from the two readers are averaged so that a single score from 0 to 6 (in half-point increments) is reported. If no essay response is given, a No Score (NS) is reported for this section. If an essay response is provided for one of the two writing tasks, the task for which no response is written receives a score of zero. Scoring guidelines are provided in Chapter 6, “GRE Analytical Writing.” Your actual essays will also be reviewed by the Essay-Similarity-Detection software at Educational Testing Service (ETS) to ensure that your work is original.



Scoring the General Test Verbal and Quantitative Sections

Your scores on these two portions of the test will depend on your specific performance on the questions given as well as the number of questions answered correctly in the allotted time. First, for each measure, a raw score is computed based on the number of questions answered correctly. Then, using statistical methods, each raw score is converted to a scaled score that takes account of small differences between test forms. For the computer-based test, the conversion process also takes account of the fact that the test is partially adaptive; that is, depending how well you perform on the first Verbal and first Quantitative question, the computer may give you a second Verbal or Quantitative question that is more difficult. The purpose of statistically generating a scaled score is to make sure that scores achieved by test-takers on one GE test form are comparable to the same scores achieved on other GRE test forms. The Verbal and Quantitative scores are each reported on a 130–170 score scale, in 1 point increments. If you answer no questions at all in either section, a No Score (NS) is reported.





A Note on Scoring the Practice Exams in This Book

Because actual GRE tests are scored using scales that are unique to each test form, this book only includes a guideline for interpreting scores on the simulated practice tests. As you work through this book, you should take additional practice exams with the official POWERPREP® software. It contains the same scoring “engine” as the real GRE exam and can give you a very good idea of how you should expect to do on test day. At this stage, and throughout most of your practice, you should not worry excessively about your test scores; your goal should be to learn something from every practice experience and to become familiar with the format and types of questions on the GRE.



What Your Scores Mean to Schools

You can select up to four institutions to receive your score report. Generally, score reports will be sent to you and the institutions selected 10 to 15 days after you complete the test. Most graduate programs elect to use GRE scores as an admissions tool because GRE scores are a reliable measure of an individual’s capacity to perform at the graduate level, and because GRE scores provide a consistent means by which to evaluate applicants. Admissions professionals also take into account an applicant’s grade point average, personal interviews, and letters of recommendation. However, because each of these methods of evaluation is variable and subjective, admissions departments need a standardized tool to provide a more objective measure of academic success.



Test-Takers with Disabilities

ETS provides additional information for test-takers with disabilities that includes guidelines for documenting disabilities, suggestions for test-takers, and the necessary forms required to obtain special accommodations. For test-takers with documented disabilities, these accommodations might include the following:

• Additional or extended testing time and breaks

• Allowance of medical devices in the testing center and special computer equipment

• A reader, a sign language interpreter, and recording devices

Accommodation requests must be made in advance and by following the guidelines set forth in The Bulletin Supplement for Test Takers with Disabilities, available as a download on www.ets.org. Documentation review could take several weeks, so be sure to submit all of the required forms and information at least two months prior to your desired test date.





What’s Next?

The Diagnostic Test in Chapter 3 should be your next step. It will help you to focus on areas of strength and weakness in your knowledge base and skill set. After you’ve assessed your current readiness for the GRE, focus on the remaining chapters in this book to maximize your GRE score.








PART II
Preparing for the GRE General Test

CHAPTER 3 GRE DIAGNOSTIC TEST

CHAPTER 4 GRE GENERAL TESTING STRATEGIES

CHAPTER 5 INTRODUCTION TO GRE LOGIC

CHAPTER 6 GRE ANALYTICAL WRITING

CHAPTER 7 GRE QUANTITATIVE

CHAPTER 8 GRE VERBAL








3
GRE Diagnostic Test


CHAPTER GOALS

[image: Image] Take a simulated full-length GRE under actual test conditions.

[image: Image] Check your results using the Answer Key.

[image: Image] Review the explanations for each question, particularly those for questions you answered incorrectly or did not answer at all.

[image: Image] Use the results to plan your GRE preparation program, focusing on areas you need to improve.



This diagnostic test can assist you in evaluating your current readiness for the Graduate Record Examination (GRE). Sample questions representing each section of the GRE are included to help you pinpoint areas of strength and weakness in your knowledge base and your skill set. Don’t worry if you are unable to answer many or most of the questions at this point. The rest of this book contains information and resources to help you to maximize your GRE score.

We suggest that you make this diagnostic test as much like the real test as possible. Find a quiet location, free from distractions, and make sure that you have pencils and a timepiece. The simulated GRE in this chapter consists of five sections: one Analytical Writing task (in two parts), two Verbal Reasoning sections, and two Quantitative Reasoning sections, each with 20 questions. You should allow approximately 3 hours and 30 minutes to complete the entire test. The test sections should be completed in the time indicated at the beginning of each section and in the order in which the sections appear. You may skip around within a section, but complete each section before you move on to the next one. Within each section there are several different types of questions. Make sure that you read and understand all directions before you begin.

[image: Image] Circle your answers on the test so that you can compare your answers to the correct answers listed in the Answer Key on page 61.

[image: Image] When asked to select a sentence in a passage that meets a certain description, circle or underline the sentence you choose.

[image: Image] Carefully review the explanations, paying close attention to the questions you missed. Reviewing explanations for questions you answered correctly is helpful because it reinforces “GRE thinking.”

Remember, your score on the actual GRE will depend on many factors, including your level of preparedness and your fatigue level on test day.

As you work through this and the other simulated tests in this book, you should be aware that they are not actual tests. They are reasonably accurate simulations written by GRE experts. They contain basically the same mix of question types as a real GRE. If you work through all of the material provided, you can rest assured that there won’t be any surprises on test day. The biggest difference between these tests and your real GRE is the fact that these are paper tests and you will take your GRE using a computer. We’ve tried to mimic the computer test as much as possible, but you should definitely plan to do some practicing with the free software available at www.gre.org from the authors of the GRE. For more information regarding the differences between the simulated test in this book and your actual GRE, refer back to Chapter 1, “Overview of the GRE,” and Chapter 2, “Taking the GRE.”

The Diagnostic Test begins on the next page.



GRE Diagnostic Test

SECTION 1 ANALYTICAL WRITING

SECTION 2 VERBAL REASONING

SECTION 3 VERBAL REASONING

SECTION 4 QUANTITATIVE REASONING

SECTION 5 QUANTITATIVE REASONING

ANSWERS AND EXPLANATIONS





SECTION 1
Analytical Writing

PART 1. ANALYZE AN ISSUE

30 minutes

You will have 30 minutes to organize your thoughts and compose a response that represents your point of view on the issue. Do not respond to any issue other than the one presented; a response to any other issue will receive a score of 0.



Issue Topic


“The government should provide funding for school music programs so that music can flourish and be available to all members of the community.”

Discuss whether you agree or disagree with the statement. Use relevant reasons and examples to support your point of view. In developing and supporting your position, consider ways in which the statement might or might not hold true. Explain how those considerations affect your point of view.
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Analytical Writing

PART 2. ANALYZE AN ARGUMENT

30 minutes

You will have 30 minutes to organize your thoughts and compose a response that critiques the given argument. Do not respond to any argument other than the one given; a response to any other argument will receive a score of 0.



Argument Topic


“When Marion Park first opened, it was the largest, most popular park in town. While it is still the largest park, it is no longer as popular as it once was. Recently collected statistics reveal the park’s drop in popularity: About 45 cars per day enter the park. On the other hand, tiny Midtown Park in the center of downtown is visited by more than 125 people on a typical weekday. One obvious difference is that Midtown Park, unlike Marion Park, can utilize parking spaces along Main Street and along various side streets. Therefore, if Marion Park is to regain its popularity, the town council will obviously need to approve funding for additional parking.”

Critique the reasoning used in the argument above. You are not being asked to discuss your point of view on the argument. You should identify and analyze the central elements of the argument, the underlying assumptions that are being made, and any supporting information that is given. Your critique can also discuss other information that would strengthen or weaken the argument or make it more logical.





________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________



________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________







SECTION 2
Verbal Reasoning

30 Minutes

20 Questions

This section consists of three different types of questions: Reading Comprehension, Text Completion, and Sentence Equivalence. To answer the questions, select the best answer from the answer choices given. Reading Comprehension questions appear in sets; Text Completion and Sentence Equivalence questions are independent. The questions will be presented in random order. Read the following directions before you begin the test.

Reading Comprehension Questions

Directions:

Multiple-choice Questions—Select One Answer Choice: These are the traditional multiple-choice questions with five answer choices from which you must select one.

Multiple-choice Questions—Select One or More Answer Choices: These questions provide three answer choices; select all that are correct.

Select-in-Passage: Choose the sentence in the passage that meets a certain description.

Text Completion Questions

Directions: Select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.

Sentence Equivalence Questions

Directions: Select the two answer choices that, when used to complete the sentence, fit the meaning of the sentence as a whole and produce completed sentences that are alike in meaning.


Questions 1 to 3 are based on the following passage.



Sending a robot into space to gather information is a viable option, but should only be regarded as that—an option. Even the most technologically advanced robots cannot and should not replace manned missions to outer space. Certainly it is cheaper and less dangerous to launch a computer probe that can gather reams of data, but often the information obtained by a machine only serves to produce more questions than it answers. Therefore, the space program should allow manned missions to follow up on those initial information-gathering robotic ventures.

While manned missions are more costly than are unmanned missions, they are also more successful. Robots and astronauts use much of the same equipment in space, but a human is more capable of calibrating those instruments correctly and placing them in appropriate and useful positions. A computer is often neither as sensitive nor as accurate as a human in managing the same terrain or environmental circumstances. Robots are also not as equipped as humans to solve problems as they arise, and robots often collect data that is not helpful or even desired. A human, on the other hand, can make instant decisions about what to explore further and what to ignore.

For Question 1, select one answer choice.

1. The passage supplies information to answer which of the following questions?

[image: Image] What is the cost of launching a computer probe into space?

[image: Image] What type of information can safely be ignored when exploring outer space?

[image: Image] How much information can a computer probe gather in outer space?

[image: Image] What is the next level in space exploration?

[image: Image] Are unmanned space missions more economical than manned space missions?

2. Select the sentence that offers potential advantages to using robots as information gatherers in space.

For Question 3, select one answer choice.

3. According to the passage, all of the following are advantages of humans over robots EXCEPT

[image: Image] humans can more accurately manage the data collected

[image: Image] humans can apply critical thinking skills to new situations

[image: Image] humans can only calibrate instruments designed by robots

[image: Image] humans are more sensitive to environmental changes

[image: Image] humans are better at preparing instrumentation for use in space


Question 4 is based on the following passage.



Coffee seems to be one of the world’s biggest and most enduring passions, as coffee houses continue to pop up on every corner, each one sporting beans from multiple exotic and sometimes completely unfamiliar locations. Although usually referred to as coffee beans, they are actually closer to berries, which grow on bushes found on slopes several thousand feet above sea level in places like Brazil. The berries are soaked, dried, sorted, and finally roasted for various amounts of time, depending on how strong and dark the consumer prefers his coffee.

For Question 4, select one answer choice.

4. Which of the following can be inferred from the overall process involved in preparing coffee beans?

[image: Image] Coffee beans must be roasted longer than coffee berries.

[image: Image] Soaking is the lengthiest step in the preparation process.

[image: Image] Consumer preference regarding the final strength and color of coffee varies.

[image: Image] A consumer’s passion for coffee determines exactly how the beans are processed.

[image: Image] The more exotic and unfamiliar the coffee bean, the longer it takes to prepare.


For Questions 5 to 7, select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.



5. Body language involves a combination of multiple facial (i) _____ and various physical positions to convey its unique (ii) _____ message.

[image: Image]

6. Although the scientist’s recommendations may have been (i) _____, the students had trouble following his (ii) _____ presentation and were, therefore, against his proposal.

[image: Image]

7. The New Zealand Storm Petrel was a bird long thought (i) _____, but in 2003 several birds were spotted for the first time in 150 years, apparently having (ii) _____ themselves on the predator-free Hauraki Islands during the (iii) _____.

[image: Image]




Questions 8 to 11 are based on the following passage.



By any measure, computers are among the most influential and powerful tools of the modern age. They represent the high-tech revolution that has transformed the ways in which human beings interact with each other and with the world at large. Seemingly, computers are the very definition of the modern era. Although modern computers have only been a part of our everyday world for a few decades, a discovery made just over a century ago found that the concept behind them is far older than anyone could have imagined. In fact, according to the experts who have studied an ancient Greek shipwreck, one particular “computer” dates back more than 2,000 years.

Made of metal, this mechanism is approximately the size of a shoebox. It was found in 1901 by divers working off the isle of Antikythera. Uncertain of the mechanism’s function, the divers named it after the island near which it was found. At the time, the Antikythera was in terrible shape from being underwater for so long. Its pieces had merged into a broken mass and all experts could deduce was that it had something to do with astronomy. Recently, thanks to a combination of advanced imaging methods and x-ray computer tomography, scientists have been able to re-create the possible design of the apparatus.

The Antikythera mechanism once had at least 30 bronze gears with as many as 225 hand-cut teeth. Scientists believe it was designed to compute eclipses of the sun and moon a number of years into the future, as well as show the motions of the planets. While experts are still uncertain as to why the device was made, there is no doubt that its technology was at least 1,000 years ahead of its time.

For Question 8, select one answer choice.

8. The primary purpose of the passage is to

[image: Image] explain how computers were originally designed

[image: Image] provide details on how to compute solar and lunar eclipses

[image: Image] introduce the concept of an ancient device with a modern application

[image: Image] describe the discovery of a computer-like machine designed more than 2,000 years ago

[image: Image] show how x-ray computer tomography has helped scientists explore ancient discoveries

For Question 9, consider each of the choices separately and select all that apply.

9. The author of the passage most likely mentions that the divers were uncertain as to the Antikythera’s function because

[image: Image] it demonstrates that computers are not very important to people in today’s society

[image: Image] it reinforces the notion that computers are a tool of the modern age

[image: Image] it contradicts earlier theories regarding ancient technology

10. Select the sentence in the passage that presents an argument for the surprising and unusual nature of this discovery.

For Question 11, consider each of the choices separately and select all that apply.

11. The passage suggests that, compared to modern computers, the Antikythera

[image: Image] did not influence subsequent technological advances

[image: Image] did not become obsolete within a short time of its creation

[image: Image] did not confuse researchers


Question 12 is based on the following passage.



Over the years there have been countless fans of the classic Hanna-Barbera cartoon character Yogi Bear. The cartoon series enjoyed by young and old alike revolved mostly around the misadventures of this loveable bear and his sidekick Boo-Boo as they attempted to snag “pic-a-nic” baskets in the made-up land of Jellystone Park. It’s not often that people think about where the ideas for these cartoons characters came from, which brings up an interesting point: do bears actually search for food left in picnic baskets and unattended campsites? Anyone who has watched an episode of the classic cartoon can see that the bears’ behavior goes far beyond the limits of what is natural. The thing that must be explored, then, is which of those humorous antics were license on the part of Hanna-Barbera, and which were actually based on a bear’s normal behaviors.

For Question 12, select one answer choice.

12. The passage implies which of the following about the cartoon character Yogi Bear?

[image: Image] Yogi’s behavior is based exclusively on that of wild bears.

[image: Image] Yogi’s penchant for picnic baskets is purely fictional.

[image: Image] Yogi’s humorous antics are not necessarily grounded in reality.

[image: Image] Yogi’s behavioral patterns have been described extensively by naturalists.

[image: Image] Yogi’s actions consistently mimic those of bears in the wild.

For Question 13, select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.

13. Many people suspect that (i) _____ humans are only a few inventions away since it is already possible to (ii) _____ many body parts with improvements made out of plastic and metal, and many key organs can be (iii) _____ from one body to another.

[image: Image]


Questions 14 and 15 are based on the following passage.



There are few portraits in the world as famous as Leonardo da Vinci’s Mona Lisa, but the identity of the model for the legendary painting has been an enduring mystery for countless people. Now some experts believe that the young woman might have been an Italian named Lisa Gherardini, the wife of an affluent silk merchant and government figure. Other researchers suspect it might have been Isabella of Aragon, the Duchess of Milan. Whoever she was, the mystery woman certainly gave the world one of its most mysterious smiles.

For Question 14, select one answer choice.

14. Which of the following sentences can be inferred about the Mona Lisa painting from this passage?

[image: Image] The model for the Mona Lisa was a very happy and kind woman.

[image: Image] The Mona Lisa is one of the most well known portraits in the world.

[image: Image] Leonardo da Vinci’s paintings all contained some kind of mystery in them.

[image: Image] The painting was apparently supposed to be a present to the Duchess of Milan.

[image: Image] Lisa Gherardini must have been a very patient person to sit for such a detailed portrait.

For Question 15, consider each of the choices separately and select all that apply.

15. Which of the following statements about the portrait is supported by the passage?

[image: Image] The portrait is the subject of ongoing controversy.

[image: Image] The portrait was of a single unidentified woman.

[image: Image] The portrait’s model was smiling as the picture was painted.




For Questions 16 through 20, select the two answer choices that, when used to complete the sentence, fit the meaning of the sentence as a whole and produce completed sentences that are alike in meaning.



16. The problem with activists is that far too often they merely _____ the protection of various ecosystems, instead of taking a lead role in their management.

[image: Image] circumvent

[image: Image] abridge

[image: Image] diversify

[image: Image] advocate

[image: Image] abhor

[image: Image] support

17. When practicing with a bow and arrow, it is _____ to be aware of both the velocity and the trajectory of one’s arrows if one wishes to hit the target.

[image: Image] irrelevant

[image: Image] necessary

[image: Image] conventional

[image: Image] prudent

[image: Image] detrimental

[image: Image] insightful

18. As we traveled to college for the first time, the family car was _____ with books, clothing, appliances, and other necessities.

[image: Image] keen

[image: Image] indigent

[image: Image] barren

[image: Image] pallid

[image: Image] laden

[image: Image] overflowing

19. The _____ of sediment in the river caused concern among environmentalists and industrialists alike; the water levels in the river were being reduced almost daily.

[image: Image] accretion

[image: Image] disposal

[image: Image] depletion

[image: Image] alienation

[image: Image] ethnology

[image: Image] accumulation

20. Running a marathon is an _____ task, taking months of both physical and mental preparation and training before actually running a grueling 26.2 miles.

[image: Image] arduous

[image: Image] ambiguous

[image: Image] involuntary

[image: Image] eloquent

[image: Image] overt

[image: Image] ambitious

STOP.

This is the end of Section 2. Use any remaining time to check your work.





SECTION 3
Verbal Reasoning

30 Minutes
20 Questions

This section consists of three different types of questions: Reading Comprehension, Text Completion, and Sentence Equivalence. To answer the questions, select the best answer from the answer choices given. Reading Comprehension questions appear in sets; Text Completion and Sentence Equivalence questions are independent. The questions will be presented in random order. Read the following directions before you begin the test.

Reading Comprehension Questions

Directions:

Multiple-choice Questions—Select One Answer Choice: These are the traditional multiple-choice questions with five answer choices from which you must select one.

Multiple-choice Questions—Select One or More Answer Choices: These questions provide three answer choices; select all that are correct.

Select-in-Passage: Choose the sentence in the passage that meets a certain description.

Text Completion Questions

Directions: Select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.

Sentence Equivalence Questions

Directions: Select the two answer choices that, when used to complete the sentence, fit the meaning of the sentence as a whole and produce completed sentences that are alike in meaning.




For Questions 1 through 3, select the two answer choices that, when used to complete the sentence, fit the meaning of the sentence as a whole and produce completed sentences that are alike in meaning.



1. Because of his _____, Brian’s guests felt very welcome and comfortable staying at his house for the weekend.

[image: Image] animosity

[image: Image] hospitality

[image: Image] determination

[image: Image] wittiness

[image: Image] severity

[image: Image] receptiveness

2. Some of the earliest bicycles came equipped with solid wooden wheels that were annoyingly _____ to break or crack at the worst moment.

[image: Image] fabricated

[image: Image] constructed

[image: Image] prone

[image: Image] unlikely

[image: Image] debatable

[image: Image] liable

3. Skin contains millions of sensory receptors which inform the brain, through electrical ____, when you have injured yourself.

[image: Image] compulsions

[image: Image] thrusts

[image: Image] impulses

[image: Image] signals

[image: Image] flashes

[image: Image] imitations


Questions 4 and 5 are based on the following passage.



Scientists believe that by raising atmospheric pressure and surface temperature, it is possible to transform the climate of Mars to the point where humans would be able to live there. The process by which a hostile or unsuitable environment is transformed into one that can sustain human life is called terraforming. In addition to potentially providing an alternate home for the people of Earth in the future, this undertaking may also allow scientists to test hypotheses about the process of global warming, which is a highly pertinent issue affecting our planet today.

For Question 4, consider each of the choices separately and select all that apply.

4. Which of the following can be inferred from the passage regarding the Martian atmosphere?

[image: Image] It has a lower pressure than Earth’s atmosphere.

[image: Image] It has a higher surface temperature than Earth.

[image: Image] It can most certainly be transformed to be more like Earth’s atmosphere.

For Question 5, select one answer choice.

5. The passage addresses which of the following consequences of terraforming?

[image: Image] The creation of a more hospitable planet.

[image: Image] The risk of overpopulation.

[image: Image] The elimination of suitable environments.

[image: Image] The depletion of the atmosphere.

[image: Image] The production of greenhouse gases.


Question 6 is based on the following passage.



A baby polar bear named Knut at the Berlin Zoo is the epicenter of a debate about animal rights and the ethics of keeping animals in captivity. Knut and his brother were abandoned by their mother after being born at the zoo. Knut’s sibling died, and Knut himself would have died as well, had the zoo officials not intervened. The zoo workers have been bottle-feeding the bear, and providing it with nourishment and care. Yet certain animal-rights activists say that the bear would have been better off dead than raised by humans, and some go as far as to say that Knut should be killed. They believe that the current treatment of the bear is inhumane, and will lead to future difficulty for Knut in interacting with other polar bears. They argue that since the mother rejected the cub, the zoo workers should have abided by the laws of nature, and the cub should have been allowed to die. Others have argued that in light of the fact that polar bears are an endangered species, it makes sense to keep as many bears as possible alive in captivity so that they can breed.

For Question 6, select one answer choice.

6. The author mentions animal-rights activists in order to

[image: Image] explain how Knut became an orphan

[image: Image] exonerate the zoo workers

[image: Image] depict Knut’s caretakers as unprofessional

[image: Image] foster the impression that polar bear’s cannot exist in the wild

[image: Image] point out a counterargument to the zoo’s position




Questions 7 to 8 are based on the following passage.



The male/female gender binary dominates Western culture, yet it is far from universal. For example, in India you might encounter a “hijra”—a member of the third sex. They are considered neither man nor woman. Although many of them are physically male, traditionally they refer to themselves as female and dress appropriately. This third gender is referenced in the earliest available records from the Indian Subcontinent, and was an established presence in the Vedic culture. There is no equivalent of hijras in the contemporary Western conceptualization of gender.

For Question 7, consider each of the choices separately and select all that apply.

7. The passage suggests which of the following about gender in Western culture?

[image: Image] Most, if not all, members of modern Western civilization consider themselves either male or female.

[image: Image] Contemporary Western civilization does not believe in the concept of hijra.

[image: Image] The idea of male/female binary gender is not generally considered the norm of contemporary Western civilization.

8. Select the sentence that indicates the historical aspect of hijra.


For Questions 9 and 10, select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.



9. Experts believe that humans have ten trillion cells in their bodies which (i) _____ any number of essential genetic elements, and they often marvel at what incredible (ii) _____ would ensue should the cells become jumbled or misunderstand their purpose.

[image: Image]

10. According to color psychologists, certain hues tend to reflect particular personality _____; violet, for example, indicates a tendency towards mysticism and intuition, while brown suggests an uncomfortable and aimless character.

[image: Image]




Questions 11 to 13 are based on the following passage.



When I was preparing for my two-week vacation in southern Africa, I realized that the continent would be like nothing I had ever seen. I wanted to explore the urban streets as well as the savannah; it’s always been my goal to have experiences on vacation that most other tourists fail to find. When my plans were finalized, I left for Africa. The cultural differences were stunning, and made for plenty of laughter and confusion, but always ended up bringing smiles to our faces. What’s funny now, though, more than ever, is how ridiculous I must have seemed to the people of one village when I played with their dog. Apparently, the role of dogs in America is nothing like it is in Africa.

I am convinced that African dogs could clobber their American counterparts, if only because African dogs are forced to be self-reliant. The relationship between a typical African dog and his owner is one of tangible mutualism. I say tangible because the African sees himself as the dominant creature not to be bothered by the dog, but nevertheless responsible for providing for it. Hence, no attempts at behavioral training are ever made with African dogs. Instead, the African seizes power with a chunk of scrap meat and a bowl of water. The dog soon learns to quit yapping and biting at the hand that feeds him. Never does the African speak to the animal. I’m not even sure such dogs get names. Their behavior becomes interestingly balanced, however, much to the surprise of the compassionate American dog lover.


For Questions 11 to 13, select one answer choice.



11. According to information provided by the passage, which of the following traits would the author most likely ascribe to African dog owners?

[image: Image] affectionate

[image: Image] abusive

[image: Image] pragmatic

[image: Image] deceitful

[image: Image] antagonistic

12. The author of the passage is primarily concerned with presenting

[image: Image] a description of cultural differences

[image: Image] an overview of animal behavior

[image: Image] a history of international tourism

[image: Image] evidence to refute a global theory

[image: Image] an account of animal cruelty

13. The passage addresses which of the following differences between African dogs and American dogs?

[image: Image] African dogs do not have owners, whereas American dogs do.

[image: Image] African dogs undergo intense behavioral training, while American dogs remain untrained.

[image: Image] African dogs learn to respect their owners, but American dogs cannot be disciplined.

[image: Image] African dogs retain more independence from their owners than do American dogs.

[image: Image] African dogs are more dominant over their owners than are American dogs.


For Questions 14 to 16, select one entry from the corresponding column of choices for each blank. Fill all blanks in the way that best completes the text.



14. Long considered one of the most beautiful of the planets, Saturn has rings that scientists believe (i) ______ the wreckage of scattered moons, but that is partially just (ii) _____ as, so far, no spaceship has been able to bring any ring material specimens back to Earth.

[image: Image]

15. Many American physicians would be quite (i) _____ if the terribly unhealthy, but quite tasty traditional Scottish cult (ii) ______ of chocolate bars dipped in batter and deep fried was served in restaurants throughout the United States.

[image: Image]

16. Conspiracy theories commonly revolve around the concept that an individual or an entire organization has, for a myriad of reasons, _____ events or a series of events in order to fool others, as in the theory that the moon landings were actually events staged in Earth.

[image: Image]




Question 17 is based on the following passage.



Traditional critical scholarship has considered a literary work the product of one focused mind, along with its social influences, struggling to achieve self-expression. In such a context, the author’s intended meaning, especially as it may be inferred by the circumstances surrounding his life and the work, is extremely important: the author’s intention should be taken as the gold standard in determining what constitutes an accurate and valid reading of the text. A natural outgrowth of measuring the validity of readings by this standard is the rejection of those readings that do not fit what the author intended, or what the surrounding culture expected the author to intend.

For Question 17, select one answer choice.

17. In the passage, “gold standard” most nearly means

[image: Image] monetary normalcy

[image: Image] natural outgrowth

[image: Image] financial custom

[image: Image] cultural expectation

[image: Image] best practice


Question 18 is based on the following passage.



A civilization’s level of advancement can be judged to an astonishing degree of accuracy by examining what it does with its sewage. Prehistoric people either behaved much like animals by individually burying their excretions, or they placed their waste in foul-smelling communal pit toilets. Later on, rivers were used as receptacles for bodily refuse to wash the offal out to sea. By the Roman times, plumbing had been invented to bring the river to inland settlements—though wastewater still flowed back out into the same rivers that might elsewhere be used for drinking. It is only in the modern age, at the pinnacle of human culture as achieved by western civilization, that we have developed systems for washing soiled water in treatment plants, where it can be chemically treated until it is safe to release back into the hydrosphere.

For Question 18, select one answer choice.

18. Based on the attitudes displayed in the passage, with which of the following statements would the author most likely disagree?

[image: Image] An unsanitary habit may nonetheless be preferable to behaving like the other animals in the environment.

[image: Image] The world would be a cleaner place if people worldwide had better access to facilities to treat sewage water.

[image: Image] Improving sanitation has been a common goal of developing societies, as people seek to live in a cleaner environment.

[image: Image] Burying excrement was remarkably environmentally sound, as it enabled human waste to return to the earth without soiling water.

[image: Image] Designing an effective plumbing system both signified and mandated a certain level of complexity in the social structure.


Questions 19 and 20 are based on the following passage.



Although a number of inventions not only change society but also bring the inventor enormous pride and even paychecks, some fizzle out because they just do not succeed as hoped. In fact, even the most famous inventors encounter some failed concepts. One of the world’s most prestigious inventors, Thomas Alva Edison, creator of the light bulb and the phonograph, tried to introduce the idea of cabinets and other furniture made out of concrete. This furniture was too heavy and too expensive to ever become popular, thus proving that nobody is always right.

For Question 19, consider each of the choices separately and select all that apply.

19. Which of the following statements about Edison can be inferred from the passage?

[image: Image] Edison was one of the world’s most esteemed and influential inventors.

[image: Image] Concrete furniture was the only one of Edison’s inventions to ultimately fail.

[image: Image] The light bulb and the phonograph were extremely successful inventions by Edison.

20. Select the sentence within the paragraph that describes why sales of Edison’s concrete furniture turned out to be unsuccessful.

STOP.

This is the end of Section 3. Use any remaining time to check your work.





SECTION 4
Quantitative Reasoning

35 Minutes
20 Questions

This section includes four types of questions: Multiple-choice Questions (Select One Answer Choice and Select One or More Answer Choices), Numeric Entry Questions, and Quantitative Comparison Questions. Read the following directions before you begin the test.

General Information:

Numbers: All of the numbers used in this section are real numbers.

Figures: Assume that the position of all points, angles, etc. are in the order shown and the measures of angles are positive.

Straight lines can be assumed to be straight.

All figures lie in a plane unless otherwise stated.

The figures given for each question provide information to solve the problem. The figures are not drawn to scale unless otherwise stated. To solve the problems, use your knowledge of mathematics; do not estimate lengths and sizes of the figures to answer questions.

Multiple-choice Questions

Select One Answer Choice

Directions: These questions are multiple-choice questions that ask you to select only one answer choice from a list of five choices.

Select One or More Answer Choices

Directions: Select one or more answer choices according to the specific question directions.

If the question does not specify how many answer choices to select, select all that apply.

The correct answer may be just one of the choices or as many as all of the choices, depending on the question.

No credit is given unless you select all of the correct choices and no others.

If the question specifies how many answer choices to select, select exactly that number of choices.

Numeric Entry Questions

Directions: Enter your answer in the answer box(es) below the question.

Equivalent forms of the correct answer, such as 2.5 and 2.50, are all correct. Fractions do not need to be reduced to lowest terms.

Enter the exact answer unless the question asks you to round your answer.

Quantitative Comparison Questions

Directions: These questions give you two quantities, Quantity A and Quantity B. Compare the two quantities and choose one of the following answer choices:

A if Quantity A is greater;

B if Quantity B is greater;

C if the two quantities are equal;

D if you cannot determine the relationship based on the given information.

Note: Information and/or figures pertaining to one or both of the quantities may appear above the two columns. Any information that appears in both columns has the same meaning for both Quantity A and Quantity B.

You will also be asked Data Interpretation questions, which are grouped together and refer to the same table, graph, or other data presentation. These questions ask you to interpret or analyze the given data. The types of questions may be Multiple-choice (both types) or Numeric Entry.


Each of Questions 1 to 7 presents two quantities, Quantity A and Quantity B. Compare the two quantities. You may use additional information centered above the quantities if such information is given. Choose one of the following answer choices:

[image: Image] if Quantity A is greater;

[image: Image] if Quantity B is greater;

[image: Image] if the two quantities are equal;

[image: Image] if you cannot determine the relationship based on the given information.



1.

[image: Image]

[image: Image]

2.

[image: Image]

3.

x = 4

[image: Image]

A rectangular box is 5 feet wide and 6 feet high and has a volume of 120 cubic feet.

4.

[image: Image]

5.

[image: Image]

6.

[image: Image]

7.

[image: Image]

8. For senior class pictures, a photographer charges x dollars to make a negative, [image: Image] dollars for each of the first 20 prints, and [image: Image] dollars for each print in excess of 20 prints. If $80 is the total charge to make a negative and 30 prints, what is the value of x?

[image: Image] 3

[image: Image] 4

[image: Image] 5

[image: Image] 6

[image: Image] 7

9. If Tom traveled 45 miles in 12 hours and Jim traveled four times as far in one-third the time, what was Jim’s average speed, in miles per hour?

[image: Image] 5

[image: Image] 15

[image: Image] 30

[image: Image] 45

[image: Image] 90

For Question 10, write your answer in the box.

10. Solve the equation for x: 2(x − 3) + 9 = 4x − 7

[image: Image]

11. In parallelogram WXYZ shown above, WY is perpendicular to YZ and the measure of angle WZY is 72°. What is the measure of angle XYW?

[image: Image] 12°

[image: Image] 18°

[image: Image] 36°

[image: Image] 58°

[image: Image] 72°

12. Which of the following is equivalent to the inequality 3x − 6 > 6x + 9?

[image: Image] x > − 5

[image: Image] x < − 5

[image: Image] x > − 2

[image: Image] x < 3

[image: Image] x > 3

For Question 13, select all the answer choices that apply.

13. You know that x is a positive integer. Which of the following statements individually provide(s) sufficient additional information to determine whether the square root of x is also an integer?

Select all such statements.

[image: Image] x is the square of an integer.

[image: Image] The square root of x is the square of an integer.

[image: Image] 0 < x < 10


Refer to the following graphs for Questions 14 to 17.



[image: Image]

14. In 1990, the total revenue for widgets sold was about how many times as great as the number of widgets sold?

[image: Image] 3

[image: Image] 10

[image: Image] 65

[image: Image] 98

[image: Image] 120

For Question 15, write your answer in the box.

15. In 1970, if the cost to produce one widget was $0.07, what would have been the total cost to produce the number of widgets sold during that year?

[image: Image]

16. The percent decrease in average number of production hours per widget from 1990 to 2000 was approximately

[image: Image] 44%

[image: Image] 36%

[image: Image] 34%

[image: Image] 32%

[image: Image] 27%

17. In how many of the years shown was the number of widgets sold at least three times the number of widgets sold in 1960?

[image: Image] Four

[image: Image] Three

[image: Image] Two

[image: Image] One

[image: Image] None


Refer to the following graph for Question 18.



[image: Image]

18. The number of hamburgers sold at a stand near the beach for a given week in the summer is shown in the previous chart. Approximately what was the ratio of hamburgers sold on the weekdays (Monday through Friday) to hamburgers sold on the weekend (Saturday and Sunday)?

[image: Image] 2:5

[image: Image] 16:29

[image: Image] 3:4

[image: Image] 29:16

[image: Image] 5:2

[image: Image]

For Question 19, select all the answer choices that apply.

19. In the figure above, m // n. Which of the angles are supplementary to ∠1?

[image: Image] ∠2

[image: Image] ∠3

[image: Image] ∠5

[image: Image] ∠6

[image: Image] ∠7

For Question 20, write your answer in the box.

20. In the number 21,437.89, how many times greater is the place value of the “3” than the place value of the “9”?

[image: Image]

STOP.

This is the end of Section 4. Use any remaining time to check your work.





SECTION 5
Quantitative Reasoning

35 Minutes
20 Questions

This section includes four types of questions: Multiple-choice Questions (Select One Answer Choice and Select One or More Answer Choices), Numeric Entry Questions, and Quantitative Comparison Questions. Read the following directions before you begin the test.

General Information:

Numbers: All of the numbers used in this section are real numbers.

Figures: Assume that the position of all points, angles, etc. are in the order shown and the measures of angles are positive.

Straight lines can be assumed to be straight.

All figures lie in a plane unless otherwise stated.

The figures given for each question provide information to solve the problem. The figures are not drawn to scale unless otherwise stated. To solve the problems, use your knowledge of mathematics; do not estimate lengths and sizes of the figures to answer questions.

Multiple-choice Questions

Select One Answer Choice

Directions: These questions are multiple-choice questions that ask you to select only one answer choice from a list of five choices.

Select One or More Answer Choices

Directions: Select one or more answer choices according to the specific question directions.

If the question does not specify how many answer choices to select, select all that apply.

The correct answer may be just one of the choices or as many as all of the choices, depending on the question.

No credit is given unless you select all of the correct choices and no others.

If the question specifies how many answer choices to select, select exactly that number of choices.

Numeric Entry Questions

Directions: Enter your answer in the answer box(es) below the question.

Equivalent forms of the correct answer, such as 2.5 and 2.50, are all correct. Fractions do not need to be reduced to lowest terms.

Enter the exact answer unless the question asks you to round your answer.

Quantitative Comparison Questions

Directions: These questions give you two quantities, Quantity A and Quantity B. Compare the two quantities and choose one of the following answer choices:

A if Quantity A is greater;

B if Quantity B is greater;

C if the two quantities are equal;

D if you cannot determine the relationship based on the given information.

Note: Information and/or figures pertaining to one or both of the quantities may appear above the two columns. Any information that appears in both columns has the same meaning for both Quantity A and Quantity B.

You will also be asked Data Interpretation questions, which are grouped together and refer to the same table, graph, or other data presentation. These questions ask you to interpret or analyze the given data. The types of questions may be Multiple-choice (both types) or Numeric Entry.


Each of Questions 1 to 7 presents two quantities, Quantity A and Quantity B. Compare the two quantities. You may use additional information centered above the quantities if such information is given. Choose one of the following answer choices:

[image: Image] if Quantity A is greater;

[image: Image] if Quantity B is greater;

[image: Image] if the two quantities are equal;

[image: Image] if you cannot determine the relationship based on the given information.



1.

[image: Image]

2.

[image: Image]

3.

[image: Image]

4.

9x − 2y = 16

3x − 7y = 82

[image: Image]

In the rectangular coordinate plane, points A, B, and C have coordinates (8, 9), (5, 9), and (5, 6), respectively.

5.

[image: Image]

x is an integer greater than 2.

6.

[image: Image]

7.

[image: Image]

8. A sub sandwich and a soda at a basketball game’s concession stand costs $3.40. A family purchases three sub sandwiches and two sodas, and the total cost is $9.10. What is the cost of a soda?

[image: Image] $1.00

[image: Image] $1.10

[image: Image] $1.15

[image: Image] $1.20

[image: Image] $1.40

For Question 9, select all the answer choices that apply.

9. If [image: Image] is an integer, which of the following numbers could not equal g? Select all such numbers.

[image: Image] 0

[image: Image] 4

[image: Image] 8

10. A department store ran an advertisement in the paper, stating that 17% of the cost of a provided grocery bag of items would be deducted at the cash register. If an individual placed $180 worth of merchandise in the bag, what would be the discounted price of the items, before taxes (rounded to the nearest dollar)?

[image: Image] $144

[image: Image] $149

[image: Image] $156

[image: Image] $163

[image: Image] $168

[image: Image]

11. On the number line above, what is the coordinate of the point between Y and Z that is three times as far from point Z as from point Y ?

[image: Image] 1

[image: Image] −1

[image: Image] −3

[image: Image] −7

[image: Image] −9

For Question 12, write your answer in the box.

[image: Image]

12. In the figure above, a square is circumscribed about a circle with a diameter of 20 cm. Points Q, R, S, and T are the midpoints of the square’s sides. What is the total area, in cm2, of the square?

[image: Image]

13. Of the following values, which is the greatest?

[image: Image]


Refer to the following information and tables for Questions 14 to 17.



Andrew fitted an electric toy car with hard rubber wheels that had deep treads and placed the car on a smooth, flat surface. Andrew started the car and a stopwatch at the same time. Andrew stopped the stopwatch as the car crossed the 75-foot mark. He calculated the results of 3 separate trials as shown in the table below.

[image: Image]

Andrew repeated the procedure, except he fitted the car with soft rubber wheels that were smooth and lacked treads. The results are shown in the table below.

[image: Image]

14. What was the average time the car with the soft wheels took to cross the 75-foot mark?

[image: Image] 22.8 seconds

[image: Image] 33.9 seconds

[image: Image] 39.8 seconds

[image: Image] 56.7 seconds

[image: Image] 170.1 seconds

15. Assuming that the car traveled at a constant speed, approximately how far had the car with hard wheels traveled in Trial 3 after 11.25 seconds?

[image: Image] 22.5 feet

[image: Image] 37.5 feet

[image: Image] 75.0 feet

[image: Image] 253.125 feet

[image: Image] Not enough information is given.

16. During which procedure and trial did the car travel at the highest speed?

[image: Image] Procedure 1, Trial 1

[image: Image] Procedure 1, Trial 2

[image: Image] Procedure 1, Trial 3

[image: Image] Procedure 2, Trial 1

[image: Image] Procedure 2, Trial 3

17. Assuming the car in Procedure 1 traveled at a constant speed, approximately how long would it take the car to travel 100 feet?

[image: Image] 100 seconds

[image: Image] 68.4 seconds

[image: Image] 30.4 seconds

[image: Image] 25 seconds

[image: Image] 22.8 seconds

18. Which of the following is equal to ¼ of 0.1 percent?

[image: Image] 0.000025

[image: Image] 0.00025

[image: Image] 0.0025

[image: Image] 0.025

[image: Image] 0.25

For Question 19, write your answer in the boxes.

19. There are six members on a committee, four women and two men. They agree to randomly pull two names out of a hat to serve as Chair and Secretary for the group. What is the probability that both of the men are chosen? Give the probability as a fraction in lowest terms.

[image: Image]

20. What is the area of the trapezoid shown above?

[image: Image] 50

[image: Image] 86

[image: Image] 136

[image: Image] 288

[image: Image] 2,304

STOP.

This is the end of Section 5. Use any remaining time to check your work.





GRE Diagnostic Test Answers and Explanations

Answer Key

Section 2. Verbal Reasoning

1. E

2. “Certainly it is cheaper…than it answers.”

3. C

4. C

5. B, F

6. B, F

7. A, F, G

8. D

9. C

10. “While they are still uncertain…1,000 years ahead of its time.”

11. A, B

12. C

13. A, F, H

14. B

15. A, B

16. D, F

17. B, D

18. E, F

19. A, F

20. A, F

Section 3. Verbal Reasoning

1. B, F

2. C, F

3. C, D

4. A

5. A

6. E

7. A, C

8. “This third gender…presence in the Vedic culture.”

9. B, F

10. C

11. C

12. A

13. D

14. A, E

15. A, F

16. B

17. E

18. A

19. A, C

20. “This furniture was too heavy…to ever become popular.”

Section 4. Quantitative Reasoning

1. B

2. A

3. A

4. C

5. B

6. C

7. C

8. C

9. D

10. 5

11. B

12. B

13. A, B

14. D

15. 22,750

16. A

17. D

18. E

19. A, D

20. 1,000

Section 5. Quantitative Reasoning

1. C

2. D

3. B

4. A

5. B

6. D

7. D

8. B

9. C

10. B

11. D

12. 400

13. A

14. D

15. B

16. C

17. C

18. B

19. [image: Image]

20. C





Answer Explanations

Section 1. Analytical Writing Parts 1 and 2

Because grading the essay is subjective, we’ve chosen not to include any “graded” essays here. Your best bet is to have someone you trust, such as your personal tutor, read your essays and give you an honest critique. Make the grading criteria mentioned in Chapter 7, “GRE Analytical Writing Assessment,” available to whomever grades your essays. If you plan on grading your own essays, review the grading criteria and be as honest as possible regarding the structure, development, organization, technique, and appropriateness of your writing. Focus on your weak areas and continue to practice in order to improve your writing skills.

Section 2. Verbal Reasoning

1. The best answer is E. According to the passage, unmanned missions cost less than manned missions, which makes them more economical.

2. The best answer is: Certainly it is cheaper and less dangerous to…than it answers. This sentence mentions two potential benefits to robotic exploration of space: lower cost and less danger.

3. The best answer is C. Humans may be better at calibrating instruments, but the passage makes no mention of who or what might design those instruments.

4. The best answer is C. According to the passage, coffee berries are roasted different lengths of time in order to change the strength and color of the coffee. These differences are a response to consumer preference.

5. The best answer is B and F. The sentence describes the look of the face and also refers to communication, which best fits “expressions” for Blank (i). Because the passage discusses “body language” and makes no reference to speech, “nonverbal” is the best choice for Blank (ii).

6. The best answer is B and F. The use of the conjunction “although” indicates that the two main clauses of the sentence will oppose each other. Since the students rejected the proposal, a negative response, the first choice has to be positive, like “realistic.” The second choice explains why they rejected the proposal: it was “convoluted,” or difficult to follow.

7. The best answer is A, F, and G. The conjunction “but” indicates that Blank (i) should be filled with something opposite to the idea of living birds, like “extinct.” The birds were unseen for 150 years, which indicates that they had hidden themselves. Therefore, Blank (ii) is “secreted,” which here means “hidden.” Finally, Blank (iii) is a synonym for the 150-year gap, i.e. “interim.”

8. The best answer is D. The passage describes an ancient scientific device that functions like a computer and whose purpose is not currently understood by modern scientists.

9. The best answer is C only. According to the passage, scientists believe that the technology of the Antikythera mechanism was 1,000 years ahead of its time. That implies that scientists must reconsider their theories about how technology developed in the ancient world.

10. The best answer is: While they are still uncertain as to why the device was made, there is no doubt that its technology was at least 1,000 years ahead of its time. This sentence tells the reader that the device is unique and surprising to experts.

11. The best answer is A and B. Choice A is implied by the 1,000-year gap in technology development. Choice B is implied because the device computed data several years into the future.

12. The best answer is C. According to the passage, the cartoon bears’ humorous antics were license on the part of Hanna-Barbera and were far beyond the natural behavior of real bears.

13. The best answer is A, F, and H. The choice “artificial” is supported by the description of body parts made out of plastic and metal. These parts can then “replace” natural parts to create “artificial” human beings. “Transferred” is a logical replacement for the third blank, as “filched” is too negative and “stabilized” doesn’t make sense in this context.

14. The best answer is B. According to the passage, there are few portraits as famous as the Mona Lisa. Therefore, it is one of the best known.

15. The best answer is A and B. According to the passage, there is disagreement among experts about who sat for the Mona Lisa. This supports choice A by describing “controversy,” and choice B by implying that the woman is, as yet, unidentified.

16. The best answer is D and F. Activists, by definition, act to promote their cause. Therefore, “advocate” is a best choice because it implies action in favor of something. “Support” is a close synonym and completes the sentence in a similar manner.

17. The best answer is B and D. “Necessary” and “prudent” both complete the sentence in a logical fashion by indicating the importance of assessing both velocity and trajectory.

18. The best answer is E and F. The list of items in the car suggests that it was very full. “Laden” and “overflowing” both convey that idea.

19. The best answer is A and F. The reduction in water levels implies that sediment in the river is increasing. “Accretion” and “accumulation” both convey that idea.

20. The best answer is A and F. The description of long preparation time and a “grueling” race imply a difficult task. “Arduous” and “ambitious” both convey challenge and difficulty, making them the best choices for this question.

Section 3. Verbal Reasoning

1. The best answer is B and F. The two choices are synonyms for welcoming gestures by a host to a guest.

2. The best answer is C and F. The passage implies that the wheels were likely to break at inconvenient times. “Prone” and “liable” are synonyms that convey that idea.

3. The best answer is C and D. “Impulses” and “signals” match the scientific tone of the sentence, while also conveying the idea that messages of some kind are sent to indicate pain.

4. The best answer is A. According to the passage, it would be necessary to raise the atmospheric pressure of Mars to make it possible for humans to live there, or in other words, to make it like Earth’s.

5. The best answer is A. According to the passage, terraforming turns hostile environments into hospitable ones by creating environments that can sustain human life.

6. The best answer is E. According to the passage, certain animal-rights activists disagree with the zoo’s policy of raising the bear by hand. Their arguments provide a counterargument to the zoo’s position on raising abandoned polar bear cubs.

7. The best answer is A and C. According to the passage, Westerners generally consider gender to be binary; that is either male or female. It can be inferred that they, therefore, consider themselves to be either male or female (choice A). Consequently, they do not consider the possibility of a third gender in contemporary society (choice C). The fact that hijra does not exist in Western contemporary culture does not suggest either belief or disbelief in the concept.

8. The best answer is: This third gender is referenced in the earliest available records from the Indian Subcontinent, and was an established presence in the Vedic culture. The mention of records and Vedic culture indicates the historical aspect of hijra.

9. The best answer is B and F. The sentence does not suggest that the cells control the genetic elements, but rather that the cells house the elements in an organized manner. If that organization is disrupted, or jumbled, the opposing state of “chaos” would occur.

10. The best answer is C. According to the sentence, color psychologists identify individual colors with particular characteristics or qualities in personalities. This matches the definition of “trait.”

11. The best answer is C. According to the passage, Africans do not speak to their dogs or give them names, which would eliminate “affectionate.” However, the relationship is never described in negative terms. Instead, its “tangible mutualism” implies a pragmatic or practical approach.

12. The best answer is A. The passage sets up a description of the relationship between Africans and their dogs by contrasting it with the same relationship in America. This comparison of cultural differences supports answer choice A.

13. The best answer is D. According to the passage, African dogs are more self-reliant than American dogs. This implies that they retain more independence from their owners than American dogs.

14. The best answer is A and E. Logically, Saturn’s rings are believed to be made up of the wreckage of scattered moons. Therefore, “consist of” is the best fit for the first blank. The contrasting conjunction “but,” however, indicates a doubt to that belief. Therefore, “speculation” is the best fit for the second blank.

15. The best answer is A and F. The phrase “terribly unhealthy” indicates a negative term like “appalled” for the first blank. The adjective “tasty” indicates a more positive term, like “delicacy,” for the second blank. The chocolate bars are clearly a dessert item, so “entrée” is not a good choice.

16. The best answer is B. The phrase “to fool others” indicates deliberate trickery. The choice “manipulated” best matches the idea of trickery and deceit.

17. The best answer is E. The “gold standard” is often used as a metaphor meaning “the best of its kind.” In this case, the passage describes the best practice or approach to determining an accurate and valid reading of the text.

18. The best answer is A. This question asks the reader to identify the statement with which the author would likely disagree. Since the author does not indicate that he believes the pit toilets are preferable to buried waste, and in fact, suggests that he finds them equally distasteful, choice A is best.

19. The best answer is A and C. Choice A is indicated because the passage calls Edison one of the world’s most prestigious inventors. Choice C is indicated because the light bulb and the phonograph are given as examples of why Edison is so esteemed.

20. The best answer is: This furniture was too heavy and expensive to ever become popular. According to the passage, the concrete furniture was unpopular. Therefore, it is implied that sales were unsuccessful.

Section 4. Quantitative Reasoning

1. The correct answer is B. To answer this question correctly you must remember that the sum of the interior angles of a triangle is 180°. Therefore, x = 180 − 65 − 38, or 77. Therefore, Quantity B (87) is greater than Quantity A (77).

2. The correct answer is A. The sum of the values in Quantity A (91) is greater than the sum of the values in Quantity B (90), so the average of Quantity A is greater than the average of Quantity B.

3. The correct answer is A. When x = 4, Quantity A is equivalent to 3(4)4, or 3(256); Quantity B = 750, which is equivalent to 3(250). Therefore, Quantity A is greater than Quantity B.

4. The correct answer is C. To solve this problem remember that the volume is calculated by multiplying the length by the width by the height (l × w × h). Set up an equation to find the length of the box:

l × 5 × 6 = 120

l × 30 = 120

l = 4

The quantities are equal.

5. The correct answer is B. The probability of tossing two tails in a row is [image: Image]. The probability of pulling out the red piece of candy is 4 out of 12, which equals [image: Image].

6. The correct answer is C. To answer this question, simply calculate the number of hours in a week (24 × 7, or 168) and the number of months in 14 years (12 × 14, or 168). The quantities are equal.

7. The correct answer is C. The test scores in Quantity B are each 10 points higher than the scores listed in Quantity A. The mean for Quantity B would be 10 points greater than the mean for Quantity A, but the standard deviations would remain the same.

8. The correct answer is C. You are given that the cost of the negative is x dollars and that the cost of the first 20 prints is [image: Image] dollars per print. You are also given that any number of prints over 20 is [image: Image] dollars per print. The question stem indicates that $80 is the total charge to make a negative and 30 prints. You know that the first 20 prints will cost [image: Image] dollars per print and the remaining 10 prints will cost [image: Image] dollars per print. Set up an equation and solve for x, as follows:

[image: Image]

9. The correct answer is D. You are given that Tom traveled 45 miles in 12 hours and that Jim traveled four times as far in one-third the time. That means that Jim traveled 45 × 4, or 180 miles in [image: Image], or 4 hours. Therefore, Jim traveled [image: Image], or 45 miles per hour.

10. The correct answer is 5. To solve this problem, isolate x on the left side of the equation by performing the necessary calculations:

2(x − 3) + 9 = 4x − 7

First, distribute the 2:

2x − 6 + 9 = 4x − 7

Next, perform the addition on the left side:

2x + 3 = 4x − 7

Now, subtract 3 from both sides:

2x = 4x − 10

Next, subtract 4x from each side:

−2x = −10

Finally, divide both sides by −2:

x = 5

11. The correct answer is B. According to the figure, angle WZY is 72°. Note that angle WYZ is 90°, which means that angle ZWY must be 18° (180 − 72 − 90 = 18). Therefore, the angle in question must also be 18°.

12. The correct answer is B. To answer this question, solve the inequality by isolating x on the left side (remember to switch the sign in the final step!):

3x − 6 > 6x + 9

−3x > 15

x < −5

13. The correct answer is A and B. Statement (A) can be expressed as x = t2, where t is any nonzero integer. In this case, the square root of x equals the square root of t2, which is t or −t, depending on whether t is positive or negative, respectively. In either case, the square root of x is an integer. Therefore, statement (A) alone is sufficient. Statement (B) is also sufficient because the square of an integer must also be an integer. Statement (C) indicates that x is a positive integer less than 10, which is not sufficient to determine whether the square root of x is also an integer.

14. The correct answer is D. According to the graphs, in 1990 total revenue was $29 million and the number of widgets sold was 295,000. Because 295,000 is slightly less than 10% of 29,000,000, the total revenue must have been just under 100 times greater than the number of widgets sold.

15. The correct answer is 22,750. According to the graphs, in 1970, 325,000 widgets were sold; at $0.07 per widget, the total cost would have been 325,000($0.07), or $22,750.

16. The correct answer is A. According to the graphs, from 1990 to 2000, the average number of production hours per widget decreased from 9 to 5. To calculate the percent decrease, divide the difference between the starting value and ending value (9 − 5) by the starting value: [image: Image], which is equivalent to 44%.

17. The correct answer is D. The first step in solving this problem is to calculate three times the number of widgets sold in 1960. According to the graphs, the number of widgets sold in 1960 was 115,000; 115,000(3) = 345,000. The only year in which more than 345,000 widgets sold was 1980 (490,000 widgets sold).

18. The correct answer is E. The graph shows approximately 125, 100, 125, 150, and 225 hamburgers sold, Monday through Friday. The sum of these sales is approximately 725 hamburgers. Approximately 400 hamburgers were sold over the weekend, so the ratio is 725:400, which reduces to 29:16.

19. The correct answer is A and D. Supplementary angles total 180°. ∠1 is adjacent to ∠2 and forms a straight line, so the two angles are supplementary. ∠1 ≅ ∠3 because they are corresponding angles. Since ∠6 is adjacent and supplementary to ∠3, it is also supplementary to ∠1. In this case, angles represented by B, C, and E are all congruent to ∠1.

20. The correct answer is 1000. The “9” is in the hundredths place, and the “3” is in the tens place. There are 1000 hundredths in a ten.

Section 5. Quantitative Reasoning

1. The correct answer is C. In order to calculate 15 percent of 90, multiply 90 by 0.15, the decimal equivalent of 15%. Likewise, to calculate 90 percent of 15, multiply 15 by 0.90, the decimal equivalent of 90 percent:

(0.15)(90) = 13.5

(0.90)(15) = 13.5

The quantities are equal.

2. The correct answer is D. Quantity A simplifies to n17, while Quantity B simplifies to n10. However, the greater quantity depends on the value of n. If the value is positive, then n17 is greater, but if n is negative, then n10 is the greater value. Since the quantities depend on the value assigned to the variable, the relationship cannot be determined from the information given.

3. The correct answer is B. By the Pythagorean Theorem, the rectangle measures 6 cm. by 8 cm. (a 6-8-10 triangle), making its perimeter 28 cm. The equilateral triangle contains three sides that each measure 10 cm, making its perimeter 30 cm and, therefore, greater than the perimeter of the rectangle.

4. The correct answer is A. To answer this question, first multiply the bottom equation by −3 to get −9x − 21y = −246. Now you can add the two equations and eliminate one of the variables, as follows:

[image: Image]

Substitute 10 for y in the first equation and solve for x:

9x − 2(10) = 16

9x − 20 = 16

9x = 36

x = 4

Quantity A (x + y) is equivalent to 4 + 10, or 14, and Quantity B = 10; therefore, Quantity A is greater than Quantity B.

5. The correct answer is B. To solve this problem, plot the points in the coordinate plane, as shown below:

[image: Image]

AC is the hypotenuse of the right triangle that you just created, and AB is a side; the hypotenuse is always longer than either of the sides, so Quantity B (AC) is greater than Quantity A (AB).

6. The correct answer is D. Because you do not know the value of x, you cannot determine a relationship between the two quantities. For example, when x = 3, the quantities are equal. However, when x is an integer greater than 3, Quantity B is greater.

7. The correct answer is D. The values of p and r are not given, so you cannot determine the relationship between Quantity A and Quantity B.

8. The correct answer is B. The problem can be solved by using two simultaneous equations: s + d = 3.40 and 3s + 2d = 9.10. Doubling the first equation and subtracting it from the second gives the result that s (the cost of a soda) is $1.10.

9. The correct answer is C only. Among the choices, only [image: Image] is not an integer; it is an irrational number.

10. The correct answer is B. If a 17% discount is taken, then the customer is actually paying 83% of the original cost. Taking 83% of 180 (0.83 × 180), the discounted price would be approximately $149.

11. The correct answer is D. One way to quickly solve this problem would be to note that the distance between the points is 16 units, so the correct answer will be 4 units [image: Image] from Point Y and 12 units [image: Image] from Point Z. You could also try each of the answer choices.

12. The correct answer is 400. To solve this problem, note that the diameter of the circle is 20 cm, which means that each side of the square is 20 cm. The area of the square is 20 cm × 20 cm, which equals 400 cm2.

13. The correct answer is A. To quickly solve this problem, note that when you divide a whole number by a fraction, the result is greater than the whole number. You could also solve each of the operations separately.

14. The correct answer is D. The soft wheels data is in the second table. Calculate the average of those three times: (57.0 + 56.4 + 56.7) ÷ 3 = 56.7

15. The correct answer is B. Since the car traveled at a constant speed, you can set up a proportion between the time and distance of the whole run and the time and distance of the partial run.

[image: Image]

Therefore, the car traveled 37.5 feet in 11.25 seconds.

16. The correct answer is C. The data in the tables reflects the amount of time the cars took to travel a constant distance. Therefore, the car that finished in the least amount of time traveled at the highest speed.

17. The correct answer is C. The first step is to calculate the average speed for all three trials: 22.8 + 23.2 + 22.5 ÷ 3 = 22.8. Next, since the car traveled at a constant speed, you can set up a proportion between the time and distance of the whole run and the time and distance of the partial run: 22.8 ÷ 75 = 0.304 sec/feet. Finally, multiply 0.304 by 100 to get 30.4 seconds.

18. The correct answer is B. To solve this problem, remember that 1/4 is equivalent to 0.25, and that 0.1 percent is equivalent to 0.001(0.1/100). Therefore, 1/4, or 0.25 of 0.001 = 0.00025; do not get confused and simply find 1/4 of 0.1, (0.025) because the question asks for 1/4 of 0.1 percent.

19. The correct answer is [image: Image]. Since there are 6 names in the hat, and 2 are men, the probability that the first name drawn is a man is [image: Image]. Then, of the remaining 5 names in the hat, only 1 is a man, so the chances that he will be chosen are 1 in 5. To find the probability of both events occurring, take [image: Image].

20. The correct answer is C. The quickest way to solve this problem is to note that, if you draw a line from C perpendicular to AD, you create a rectangle whose area is 16 × 8, or 128 square units. Because the trapezoid is slightly larger than the rectangle, the area must be slightly greater than 128. Only answer choice C works. You can also calculate the area of the small triangle you created when you drew the perpendicular line: [image: Image]; 128 + 8 = 136.
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